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Choose the best answer.  It is expected that work is shown to receive full credit.  

______  1.  In the square to the right, what is the slope of line segment 
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A. -2 

B. -1

C. 
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D. 1 

E.  2 

______  2.   In the picture below, YB // ZD.  If BAC = (a + 30) degrees, then ACD expressed in terms of a is:
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A. a + 30

B. a + 150

C. 150 - a
D. 60 + a
E. a - 60
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______  3.  Find the measure of angle one in the figure below.

A.  12º

B.  18º

C.  42º

D.  84º

E.  138º

______  4.  Which of the following is an equation of a line that passes through the origin and is parallel to 2x – y = 5?  

A. -2x + y = 5

B.  2x + y = 5

C.  x – y = 0

D.  2x – y = 0 

E.  2x + y = 0

______  5.  A line segment is parallel to the x-axis and is 8 units long.  The two endpoints are (3,5) and (a,b).  Find a.
A.  -5

B.  -3

C.  0

D.  10

E.  13

______  6.  Point M is exactly midway between points A and B and also C and D.  Use A(-6,24), B(14,-4), and C(6,12) to find the coordinates of point D.

A. (-10, 14) 
B. (2, 8) 
C. (4, 10) 
D. (5, 11) 
E. (44, -32) 

______ 7.  Which equation is the equation of a line perpendicular to y = 4x – 7?

A.  
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______  8.  What is the y-intercept of the line parallel to 2x – 3y = 15 and goes through the point (9,5)?

A.  -3

B.  -1

C.  2

D.  8

E.  11

______  9.  Which of the following is the slope of a line that passes through the point (2,2) and between the points (-7,-7) and       (-7,-10) but does not contain either point?

A.  
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B.  
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D.  
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11. In the square graphed below, what is the slope of line segment 77 ?

12. What is the sum of the 2 real solutions to the equation x = 6 — x> 7
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